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Mini Deneme 3.  

1-6: For these questions, choose the best word or 

expression to fill the space. 

1.  Some communities within a country tend to resist 
change even after the most logical ---- are made 
by the authorities to convince them. 

A) eliminations  B) explanations 

C) accusations  D) migrations 

                E) queries 

 

2. Fallen leaves and broken twigs do not need to be 
removed from flower beds because they play a 
vital role and, in fact, ---- that the soil gets vital 
nutrients. 

A) include   B) ensure 

C) reject   D) reverse 

        E) suggest 

 

3. Despite their potential to halt the spread of 
disease, newly-developed vaccines may remain    
---- against ever-mutating viruses. 

A) available   B) critical 

C) inadequate  D) reversible 

        E) uncommon 

 

 

 

4. Some 55 million years ago − just around 10 
million years after the mass ---- that killed T. rex 
and most of its kin − the average global 
temperature sat more than 20°F higher than it 
does today. 

A) utilisation   B) mortality 

C) extinction   D) submission 

        E) adherence 

 

5. If you see 10 stars or fewer in one constellation 
when you look up at night, you are likely in an 
area with severe light pollution ---- affecting night 
vision. 

A) respectfully  B) initially 

C) intensely   D) progressively 

        E) instinctively 

6. Social scientists are looking for ways to improve 
the poor living conditions of groups of people who  
---- a category called “untouchables.”  

A) fall into   B) set up 

C) let off   D) deal with 

    E) carry out 

 

 

 

 

7-15: For these questions, choose the best word(s) or 

expression(s) to fill the space(s). 

7. Getting back to work after the pandemic will not 
feel the same as colleagues ---- communal spaces 
and activities, and even beloved lunch spots ---- 
the pandemic. 

A) could avoid / would not have survived 

B) must avoid / cannot have survived 

C) have to avoid / must not have survived 

D) may avoid / may not have survived 

E) used to avoid / might not have survived 

 

 

8. Humans are not alone in ---- close track of natural 
water sources − many animals make mental maps 
of their surroundings ---- where important 
resources are found. 

A) to keep / to be remembering 

B) having kept / having remembered 

C) keeping / to remember 

D) having been kept / remembered 

E) to be kept / being remembered 

 

 

9.   Before their defeat in 1521, the Mexica people, 
who ---- today as the Aztecs, ---- from a nomadic 
people to Mesoamerica’s dominant power in less 
than a century. 

A) were known / evolved 

B) are known / had evolved 

C) would be known / have evolved 

D) have been known / will evolve 

E) will be known / were evolving 
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10.  Google has claimed that informal chats ---- coffee 
machines and lunch tables in its campus were 
responsible ---- innovations such as Street View 
and Gmail. 

A) under / within  B) at / for 

C) among / from  D) by / during 

        E) into / above 

 

 

 

 

 

 

 

 

11.  By 2070, experts estimate, ---- 150 million 
people and $35 trillion in property in the world’s 
large port cities will be ---- risk from coastal 
flooding. 

A) about / at   B) from / onto 

C) over / off   D) for / over  

        E) above / in 

 

 

 

 

 

 

 

 

12.  For the first time ---- records began, there are 
more job vacancies in the UK than unemployed 
people, according to the latest monthly labour 
market figures. 

A) when   B) since 

 C) as   D) though  
       E) before 

 

 

 

 

 

 

 

13.  ---- some beneficial effects of blue light, such as 
its use in treating skin conditions including 
eczema, its harmful effects are likely to outweigh 
the positives for healthy people. 

A) Thanks to   B) In terms of 

C) Despite    D) As a result of 

         E) In case of 

 

 

 

 

 

 

14.  Women in football are becoming increasingly 
visible ---- as players and fans, ---- as pundits, 
match officials, journalists and club workers.  

A) either / and   

B) more / than 

C) not only / but also    

D) so / that 

E) just as / so 

 

 

 

 

 

 

 

15. ---- in 1875, there were perhaps as many as a 
million Sumatran rhinos foraging in forests from 
Bhutan to Borneo, today there may be fewer than 
a hundred left in the world. 

A) Because   B) If 

C) While   D) Once 

     E) In order that 
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16-20: For these questions, choose the best word or 

expression to fill the spaces in the passage. 

We take it for granted that technology brings people closer 

together and improves our access (16) ---- essential 

products and services. If you can’t imagine life without your 

smartphone, it is easy to forget that people who can’t or don’t 

want to engage with the latest technology are being left 

behind. (17) ----, there have recently been reports that 

cashless payment systems for car parking in the UK are 

seeing older drivers unfairly hit with fines. This has led to 

calls for the government to (18) ----. Age is one of the biggest 

predictors of digital exclusion. Only 47% of those (19) ---- 75 

and over use the internet regularly. And out of the 4 million 

who have never used the internet in the UK, only 300,000 

people are under 55. But older people are not the only ones 

who feel shut out by new technology. Research shows 

vulnerable people, (20) ---- those with disabilities, are also 

disengaging with e-services and being “locked out” of 

society.  

16. 

A) for    B) to 

C) from    D) off 

E) on 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

17. 

 

A) For example   B) In addition 

C) However    D) In contrast 

E) By the same token 

 

 

 

 

 

 

 

 

 

18.  

 

A) counter  

B) project 

C) calculate  

D) intervene 

E) destroy 

 

 

 

 

 

 

 

 

 

 

 

19. 

 

A) to have aged   B) to be aged 

C) to age   D) aging  

E) aged 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

20. 

 

A) in view of   B) on behalf of  

C) such as   D) without 

E) in terms of 
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21-24: For these questions, choose the best option to 

complete the given sentence. 

21.  Previous child development research usually 
disregarded fathers, ----. 

A)  and now researchers are finding it hard to find 
reliable data in current studies 

B)   since many of them chose to become stay-at-home 
fathers 

C)  otherwise, they are actually doing their best to 
raise example kids 

D)  but new studies are demonstrating that they play a 
decisive role in children’s behaviour 

E)  as long as they do whatever they can to play an 
important part in their children’s lives 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

22. We can only process information from a small 
part of our visual field at a time, ----. 

A) and a sequence of eye movements binds visual 
details together, such as faces and objects 

B)   for our visual sampling of the world determines the 
content of the memories that our brains store 

C) so we overcome this limitation by constantly 
shifting our focus of attention through eye 
movements 

D)   for there is a direct link between eye movements 
and the human memory systems 

E)  also humans have a fascinating ability to recreate 
events in the mind’s eye, in exquisite detail 

 

 

 

 

 

23. When it comes to tests for new treatments for our 
most unpleasant diseases, ----. 

A) we do not think twice about various animals being 
used 

B)   the technology remains the same, proceeding 
toward more humans being used 

C) the developments in science keep surprising us 
and even most researchers  

D)   the side effects of certain new drugs can only be 
tested in vitro 

E)  our studies used to focus on edible components in 
blood plasma production 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

24. While people have known for years that 

friendships are unquestionably good for your 

health, ----. 

A) even the idea of friendship might instil positive 

feelings among people from different parts of 

the world  

B)   friends will eventually find themselves in a position 

where they help other friends in any way possible 

C) it has been claimed by many scientists that the 

benefits of a life full of friends overweigh its 

disadvantages  

D)   experts say it is only natural for acquaintances 

and even friends to fall out of favour as time 

goes on  

E)  people feel comfortable when they categorize 

their friends into close friends and others 
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25-28: For these questions, choose the most 

accurate Turkish translation of the sentences in 

English, and the most accurate English translation of 

the sentences in Turkish. 

 

25. Numerous countries have passed plastic-straw bans 

as a way to start addressing the global plastic waste 

problem.   

A)  Çok sayıda ülke tarafından küresel plastik atık 
sorununu ele almaya başlamanın bir yolu olarak 
plastik pipet yasakları yürürlüğe konulmuştur.  

B) Plastik pipet yasaklarının birçok ülke tarafından 
yürürlüğe konulması, küresel plastik atık sorununu 
ele almaya başlamanın bir yoludur.  

C) Çok sayıda ülke, küresel plastik atık sorununu ele 
almaya başlamak için plastik pipet yasaklarını 
yürürlüğe koymuştur.  

D) Çok sayıda ülke tarafından yapılan, küresel plastik 
atık sorununu ele almaya başlamanın bir yolu 
olarak plastik pipet yasaklarını yürürlüğe koymaktır.  

E) Çok sayıda ülke, küresel plastik atık sorununu ele 
almaya başlamanın bir yolu olarak plastik pipet 
yasaklarını yürürlüğe koymuştur. 

 

 

 

 

 

 

 

26. Unusually hot weather has been increasing the use 

of air conditioners, which will generate more 

greenhouse gas emissions unless the energy comes 

from renewable sources.  

A)  Enerji yenilenebilir kaynaklardan gelmedikçe daha 
fazla sera gazı salınımı olacak ve bunu alışılmadık 
biçimde sıcak havanın artırdığı klima kullanımı 
körükleyecektir.  

B)  Alışılmamış biçimde sıcak hava, klima kullanımını 
artırmaktadır ve bunun kaçınılmaz sonucu da 
enerji, yenilenebilir kaynaklardan gelmedikçe daha 
fazla sera gazı salınımı olacaktır.  

C)  Alışılmamış biçimde sıcak havanın klima 
kullanımını artırmasıyla enerji, yenilenebilir 
kaynaklardan gelmedikçe daha fazla sera gazı 
salınımı üretilecektir.    

D)  Havaların alışılmamış biçimde sıcak seyretmesi 
klima kullanımını artırmaktadır ve bu da enerji, 
yenilenebilir kaynaklardan gelmedikçe daha fazla 
sera gazı salınımı üretecektir.  

E)   Alışılmamış biçimde sıcak hava, klima kullanımını 
artırmaktadır ve bu da enerji, yenilenebilir 
kaynaklardan gelmedikçe daha fazla sera gazı 
salınımı üretecektir.  

 

49. Pandeminin başlangıcında her ikisi de akciğerleri 

hedef alan bulaşıcı hastalıklar olduğu ve benzer 

belirtileri olduğu için verem olan bazı insanlara 

COVID-19 teşhisi konmuş olabilir.  

A)  Both tuberculosis and COVID-19 are infectious 

diseases that attack the lungs and have similar 

symptoms, so people with tuberculosis may have 

been diagnosed with COVID-19 at the beginning of 

the pandemic. 

B)  At the beginning of the pandemic, some people 

with tuberculosis may have been diagnosed with 

COVID-19 because both are infectious diseases 

that attack the lungs and have similar symptoms.  

C) Their being infectious diseases that attack the 

lungs and having similar symptoms may have 

resulted in some people with tuberculosis being 

diagnosed with COVID-19. 

D) One reason why many people with tuberculosis 

may have been diagnosed with COVID-19 at the 

beginning of the pandemic is that both are 

infectious diseases that attack the lungs and have 

similar symptoms. 

E) That both tuberculosis and COVID-19 are 

infectious diseases that attack the lungs and have 

the same symptoms may have resulted in some 

people with tuberculosis being diagnosed with 

COVID-19 at the beginning of the pandemic. 

 

 

 

28. Kızmanın ters bir etkisi olacağı ve uyumanızı daha 

da zor hale getireceği için bu, uykusuzluğa en 

kötü tepki verme yollarından birisidir.  

A) Getting angry will have an adverse effect and 

make it even harder for you to sleep, so it is one of 

the worst ways to respond to insomnia.  

B)  One of the worst ways to respond to insomnia is 

getting angry as it will definitely have an adverse 

effect and make it even harder for you to sleep. 

C) Since getting angry will have an adverse effect 

and make it even harder for you to sleep, it is one 

of the worst ways to respond to insomnia. 

D)  Among the ways to respond to insomnia, getting 

angry is the worst because it has an adverse effect 

and makes it even harder for you to sleep. 

E)  It might not be a good idea to get angry in the face 

of insomnia as it may have an adverse effect and 

make it even harder for you to sleep. 
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29-32: Answer these questions according to the 

passage below. 

 Humankind’s peculiar preoccupation with time – and, in 

particular, whether we spend it “productively” – became 

much greater with the common usage of the clock and the 

emergence of the Industrial Revolution. Before then, the 

natural rhythms of the day guided people: The cows needed 

milking when they needed milking, and you couldn't decide 

to sort of do all the milking for the month in a couple of days. 

Once people started working in mills and factories, however, 

their activities had to be coordinated more precisely. This led 

to a greater focus on scheduling and the creation of the 

timetable – along with the realisation that our productivity 

could be carefully monitored. And the resulting pressure, to 

get more done in less time, seems to have grown 

exponentially in the second half of the 20
th
 century. The 

self-help industry has catered to these anxieties by offering 

tips for better time management in many books. The 

implication is that, with the right technique, you might be able 

to deal with pretty much any obligation that comes your way. 

Unfortunately, it often doesn’t work that way. The drive for 

efficiency and productivity is a kind of trap since you never 

truly escape the feeling that you should be doing more. 

 

 

 

 

 

 

 

29. One can understand from the passage that the 

timetable ----. 

A)  was a necessity even when the natural rhythms of 
the day were the norm 

B) came into being due to the need for coordinating 
the activities of factory workers     

C) is the sole reason why we feel like we should be 
doing more 

D) is a necessary part of our lives, even if we are 
farmers responsible for milking cows 

E)  became a part of our lives with the invention of the 
clock   

30. It is pointed out in the passage that the self-help 

industry ----. 

A)  did not do much to help people to get rid of the 
feeling that they should be doing more 

B)  paved the way for a culture where efficiency and 
productivity are indispensable  

C) has had a tremendous influence on the way we 
plan and organize our lives 

D) became a huge industry towards the end of the 20
th
 

century 

E) has been in our lives since people started to work 
at mills and factories 

 

 

 

 

 

 31. The underlined word ‘exponentially’ is closest in 

meaning to ----.  

A)  quietly 

B)  dramatically 

C)  clinically 

D)  crucially 

E)  definitively  

 

 

 

32. Which of the following could be the best title for 

the passage?  

A)  When our Preoccupation with Time Actually Began 

B)  The Role of the Industrial Revolution in Shaping 
our Sense of Time 

C)  Tips for Better Time Management in Modern Times 

D)  The Fallacy of “More can be Done in Less Time” 
Doctrine  

E)  The Natural Rhythms of the Day: When to Milk the 
Cows 
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33-34: For these questions, choose the best option to 

complete the dialogue. 

 

33.  

 Ryan:  

- I don’t understand people going vegan. They 

know they are giving up their health by making 

that choice. 

 Lisa:  

- They are putting the health of animals before 

their health. It is that simple. 

 Ryan:  

- ----  

 Lisa:  

- I don’t think so. They are also doing it for their 

own conscience. At least they feel that they are 

not part of the cycle that involves the regular 

killing of animals. 

 Ryan:  

- I didn’t think about it this way. I should give it 

more thought then. 

 

A) How do they expect to get the necessary proteins in 

the absence of animal products?  

B) But this doesn’t make sense! Their endeavour 

doesn’t stop the killing of animals for food. 

C) In my opinion, this is a fad and soon people will 

forget the concept of veganism.    

D) You talk as if you were a vegan yourself! We have 

just had steak together, don’t forget. 

E) No matter what you say, you cannot convert me to 

the ranks of vegans. I like animal proteins. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

34.  

 Peter: 

 

- I won’t be able to pay for the insurance of 

my car this year. The price has already 

quadrupled!  

  

 Sarah: 

 

- This is terrible. I don’t know where the 

economy is going. 

  

 Peter: 

  

 -      ---- 

  

 Sarah: 

 

 -      I think you should do so, or you will  

      suffer when an accident happens. 

 

A) The inflation rate doesn’t apply to insurance 

companies. 

B) The way I see it, nobody will get their cars 

insured. 

C) All the other prices have also increased, but 

not this much. 

D) I always have my insurance done from the 

same company. 

E) In any case, I have to pay it if I want to drive 

my car safely. 
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35-36: For these questions, choose the best 

rephrased form of the given sentence 

 

35. Change due to growth or development may be 

distinguished from that due to training, but there is 

evidence that training may be more effective at 

particular stages or ages. 

A) Distinguishing change due to growth or development 

from that due to training is possible; however, that 

training is way more effective at particular stages or 

ages has yet to be proven. 

B) Change happening as a result of growth or 

development is easier to distinguish than that 

resulting from training, but evidence suggests 

training is more effective at certain stages or ages. 

C) Change resulting from growth or development is 

distinguishable from that resulting from tone caused 

by training, yet it has been proven that training is 

more effective at particular stages or ages.  

D) Though it is possible to tell the change resulting from 

growth or development from that resulting from 

training, evidence suggests that, at particular stages 

or ages, training may be more efficient. 

E) Although change due to growth or development may 

be discernible from that happening as a result of 

training, there is ample evidence that training proves 

more effective at certain stages or ages.      

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

36. Though the Earth’s magnetic field is very similar to 

that of a bar magnet, with a north and south pole, it 

is not as stable because it is generated by complex 

processes inside the Earth.   

A) There are similarities between the Earth’s magnetic 

field and that of a bar magnet, such as a north and a 

south pole, but they differ in terms of stability 

because of the latter’s complex generation 

processes. 

B)  What makes the Earth’s magnetic field different from 

that of a bar magnet is its instability due to its 

generation processes inside the Earth despite the 

obvious similarities such as having a north and 

south pole. 

C)  As similar as it is to the magnetic field of a bar 

magnet, with a north and south pole, Earth’s 

magnetic field isn’t as stable due to the nature of its 

generation by complex processes inside the Earth.  

D)  Both the Earth’s magnetic field and that of a bar 

magnet have a north and a south pole, but the 

former is not as stable as the latter because the 

latter lacks complex processes inside the Earth. 

E)  The magnetic field of a bar magnet with its north and 

south poles is not different from that of the Earth, but 

the Earth’s is unstable due to the complex 

processes involved in its generation. 
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37-38: For these questions, choose the best option to 

complete the missing part of the passage. 

 

37. ---- That is time that kids could be playing sports, 

reading books or just taking a break after a long day. 

It is common for high school students to devote 

twice as much time, about two hours daily, to their 

homework. And some schools require much more 

homework. In some school systems, even 

kindergartners do some homework. 

A) Homework appears to work best when the teacher 

and students are clear about what it is for and the 

assignments are worthwhile. 

B)  The nightly hour many middle schoolers spend on 

homework adds up to about 180 hours over a 

school year. 

C) There is a huge debate about homework and 

whether it helps kids learn during the school year. 

D) Educationalists have started to wonder whether 

making kids study in what could be their personal 

time pays off or not. 

E) Some guidelines recommend one hour of 

homework for middle school and two hours for high 

school. 

 

38.   There are more than 64 million km (40 million miles) 

of roads globally and large increases are predicted, 

especially in developing countries, as the world's 

population grows and incomes rise, meaning more 

people can afford cars. It is projected that there will 

be two billion cars on the road by 2040, with total 

traffic levels increasing by more than 50%, which 

means traffic will eventually come to a standstill, 

called a gridlock. ---- What’s more, it has an 

environmental toll, increasing fuel consumption, 

carbon emissions, and air and noise pollution. 

A) As the average American driver wastes around 54 

hours each year sitting in traffic, gridlocked traffic is 

a huge time suck. 

B)  One of the most immediate impacts of a world 

without surface roads would be a huge freeing up 

of space across the globe. 

C) Motor traffic mixing with people is inherently 

problematic since 1.3 million people die every year 

due to road traffic accidents. 

D) Automated cars locked into lines moving at 

consistent, controllable high speeds could do a lot 

to improve congestion. 

E) The world is still years away from self-driving cars, 

as companies scramble to deal with a knot of 

safety issues. 

 

39-40: For these questions, choose the irrelevant 

sentence in the passage. 

 

39.  (I) For about 80% of people with asthma, a heavy 

workout can cause airways to narrow, which means 

exercise is often the main asthma trigger. (II) If you 

have exercise-induced asthma, you will feel chest 

tightness, cough, and have trouble breathing within 

the first 5 to 15 minutes of an aerobic workout.     

(III) For most people, these symptoms go away in 

the next 30 to 60 minutes of exercise. (IV) If you 

have severe asthma and you’re not active now, talk 

to your doctor first about how to track your breathing 

and choose the right activities. (V) But up to 50% of 

people with exercise-induced asthma may have 

another attack 6 to 10 hours later. 

 

 A) I  B) II C) III  D) IV    E) V 

 

 

 

 

 

 

 

 

 

40. (I) There are a few reasons for men’s not getting 

involved in household chores like cleaning and 

cooking. (II) Although they have made tremendous 

improvements in equal education and employment, 

women still shoulder a larger share of the housework 

than men. (III) They spend, on average, 

approximately an hour and 20 minutes per day 

cooking, cleaning and doing laundry. (IV) Men, on the 

other hand, spend about half an hour performing 

these duties – and only 10 minutes scrubbing and 

tidying. (V) This household chore – or duty – 

inequality is evident over time, across professions 

and even when women work longer hours and make 

more money. 

 

A) I  B) II C) III  D) IV    E) V 
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MİNİ DENEME 3 YANIT ANAHTARI  

1) B 2) B 3) C 4) C 5) C  6) A   7) D  8) C 9) B  10) B 

11) A 12) B   13) D   14) C  15) C    16) B  17) A     18) D   19) E    20) C  

21) D  22) C 23) A  24) D 25) E    26) E  27) B   28) C 29) B      30) A   

31) B  32) D  33) B    34) E   35) D 36) C    37) B   38) A  39) D    40) A    

 

 


